
Mathematics: Demo (V-2)
SOLUTIONS

Name:

Time: Score: /

153) 6 2 6 4 7

− 5 5 3

7 3 4

− 7 1 1

2 3 7

− 2 3 7

0

: 7 9 = 7 9 3 154) 2 0 2 0

− 2 0

0 2

− 0

2 0

− 2 0

0

: 2 0 = 1 0 1

155) 2 4 1 9 6

− 1 8 4

5 7 9

− 5 5 2

2 7 6

− 2 7 6

0

: 9 2 = 2 6 3 156) 1 5 2 3 2

− 1 4 0

1 2 3

− 1 1 2

1 1 2

− 1 1 2

0

: 2 8 = 5 4 4

157) 1 7 3 8 8

− 1 6 8

5 8

− 5 6

2 8

− 2 8

0

: 2 8 = 6 2 1 158) 5 1 3 4

− 5 1

0 3

− 0

3 4

− 3 4

0

: 1 7 = 3 0 2

159) 2 8 3 8

− 2 2

6 3

− 5 5

8 8

− 8 8

0

: 1 1 = 2 5 8 160) 1 4 8 5 8

− 1 3 6

1 2 5

− 1 0 2

2 3 8

− 2 3 8

0

: 3 4 = 4 3 7

161) 2 8 8 6 4

1 6 4

0

4 1

7 0 4
162) 9 7 0 6

5 0

4 6

0

2 3

4 2 2

163) 7 7 7 9 2

7 3 9

3 5 2

0

8 8

8 8 4
164) 2 9 4 3 2

3 4 3

3 1 2

0

5 2

5 6 6

165) 6 6 0

0

2 2

3 0
166) 2 2 1 6 3

3 6 6

3 3 3

0

3 7

5 9 9

Mathematics: Demo - Vertical - Set 2 32 © workulum.com

https://www.workulum.com

